



**BALL COMPARISON OF THREE METHODS OF
 CONVERGENCE ORDER SIX UNDER THE SAME SET OF
 CONDITIONS**

IOANNIS K. ARGYROS¹ AND SANTHOSH GEORGE^{*2}

¹ Department of Mathematical Sciences, Cameron University, Lawton, OK 73505, USA

² Department of Mathematical and Computational Sciences, National Institute of Technology
 Karnataka, India-575 025

ABSTRACT. The aim of this paper is to compare the convergence radii of three methods of convergence order six under the same conditions. Moreover, we expand the applicability of these methods using only the first derivative in contrast to earlier works using hypotheses on derivatives up to order seven although these derivatives do not appear in the methods. Numerical examples complete this study.

KEYWORDS: High order methods; Banach space; local convergence; ω -conditions.

AMS Subject Classification: Primary 65D10; Secondary 65D99

1. INTRODUCTION

In this paper we compare the convergence radii of following three sixth order iterative methods defined for $n = 0, 1, 2, \dots$, by [12]:

$$\begin{aligned}
 y_n &= x_n - \frac{2}{3} F'(x_n)^{-1} F(x_n) \\
 z_n &= x_n - \left[-\frac{1}{2} I + \frac{9}{8} F'(y_n)^{-1} F'(x_n) \right. \\
 &\quad \left. + \frac{3}{8} F'(x_n)^{-1} F'(y_n) \right] F'(x_n)^{-1} F(x_n) \\
 x_{n+1} &= z_n - \left[\frac{9}{4} I + \frac{15}{8} F'(y_n)^{-1} F'(x_n) \right. \\
 &\quad \left. + \frac{11}{8} F'(x_n)^{-1} F'(y_n) \right] F'(y_n)^{-1} F(z_n),
 \end{aligned} \tag{1.1}$$

^{*}Corresponding author.
 Email address : iargyros@cameron.edu, sgeorge@nitk.edu.in.

[12]

$$\begin{aligned}
y_n &= x_n - \frac{2}{3} F'(x_n)^{-1} F(x_n) \\
z_n &= x_n - \left[\frac{5}{8} I + \frac{3}{8} (F'(y_n)^{-1} F'(x_n))^2 \right] \\
&\quad \times F'(x_n)^{-1} F(x_n) \\
x_{n+1} &= z_n - \left[-\frac{9}{4} I + \frac{15}{8} F'(y_n)^{-1} F'(x_n) \right] \\
&\quad + \frac{11}{8} F'(x_n)^{-1} F'(y_n) F'(y_n)^{-1} F(z_n),
\end{aligned} \tag{1.2}$$

and [14]

$$\begin{aligned}
y_n &= x_n - F'(x_n)^{-1} F(x_n) \\
z_n &= x_n - \left[\frac{23}{8} I - 3F'(x_n)^{-1} F'(y_n) + \frac{9}{8} (F'(x_n)^{-1} F'(y_n))^2 \right] \\
&\quad \times F'(x_n)^{-1} F(x_n) \\
x_{n+1} &= z_n - \left[\frac{5}{2} I - \frac{3}{2} F'(x_n)^{-1} F'(y_n) \right] \\
&\quad \times F'(x_n)^{-1} F(x_n)
\end{aligned} \tag{1.3}$$

used for approximating a solution α of the equation

$$F(x) = 0. \tag{1.4}$$

Here: $F : \Omega \subset \mathcal{E}_1 \rightarrow \mathcal{E}_2$ is a differentiable operator in the sense of Fréchet, \mathcal{E}_1 and \mathcal{E}_2 are Banach spaces and Ω is convex and open.

Earlier convergence analysis of these methods when $\mathcal{E}_1 = \mathcal{E}_2 = \mathbb{R}^k$ used, assumptions of the Fréchet derivatives of F of order up to seven [1, 2, 14] although these derivatives do not appear in these methods, limiting the applicability.

Example 1.1. Let $\mathcal{E}_1 = \mathcal{E}_2 = \mathbb{R}$, $\Omega = [-\frac{5}{2}, \frac{3}{2}]$. Define F on Ω by

$$F(x) = x^3 \log x^2 + x^5 - x^4$$

Then

$$\begin{aligned}
F'(x) &= 3x^2 \log x^2 + 5x^4 - 4x^3 + 2x^2, \\
F''(x) &= 6x \log x^2 + 20x^3 - 12x^2 + 10x, \\
F'''(x) &= 6 \log x^2 + 60x^2 = 24x + 22.
\end{aligned}$$

Obviously $F'''(x)$ is not bounded on Ω . So, the convergence of methods (1.1), (1.2) and (1.3) is not guaranteed by the analysis in the earlier studies.

In this study, our analysis uses only the assumptions on the first Fréchet derivative of F . Thus, we extend the applicability of these methods and in the more general setting of Banach space valued operators. This technique can be used to extend the applicability of other iterative methods.

Notice that, solutions methods for equation (1.4) is an important area of research, since a plethora of problems from diverse disciplines such that Mathematics, Optimization, Mathematical Programming, Chemistry, Biology, Physics, Economics, Statistics, Engineering and other disciplines can be modeled into an equation of the form (1.4) [1, 2, 3, 4, 5, 6, 7, 8, 9, 10, 11, 12, 13, 14, 15].

The rest of the study is organized as follows. In Section 2, the local convergence analysis is given and numerical examples are given in the last Section 4.

2. LOCAL CONVERGENCE

Let us introduce some real functions and parameters needed in the local convergence analysis. Consider a function $\omega_0 : S \rightarrow S$ continuous and increasing with $\omega_0(0) = 0$, where $S = [0, \infty)$. Suppose that equation

$$\omega_0(t) = 1 \quad (2.1)$$

has at least one positive solution. We denote by ρ_0 the smallest such solution. Set $S_0 = [0, \rho_0)$. Let also $\omega : S_0 \rightarrow S$ and $\omega_1 : S_0 \rightarrow S$ be continuous and increasing functions with $\omega(0) = 0$. Define functions g_1 and \bar{g}_1 on the interval S_0 by

$$g_1(t) = \frac{\omega((1-\theta)t)d\theta + \frac{1}{3} \int_0^1 \omega_1(\theta t)d\theta}{1 - \omega_0(t)}$$

and

$$\bar{g}_1(t) = g_1(t) - 1.$$

Suppose that

$$\omega_1(0) < 3. \quad (2.2)$$

We obtain that $\bar{g}_1(0) = \frac{\omega_1(0)}{3} - 1 < 0$ and $\bar{g}_1(t) \rightarrow \infty$ as $t \rightarrow \rho_0^-$. The intermediate value theorem guarantees the existence of at least one solution of the equation $\bar{g}_1(t) = 0$ in $(0, \rho_0)$. Denote by R_1 the smallest such solution. Suppose that equation

$$\omega_0(g_1(t)t) = 1 \quad (2.3)$$

has at least one positive solution. Denote by ρ_1 the smallest such solution. Set $S_1 = [0, \rho_2)$, where $\rho_2 = \min\{\rho_0, \rho_1\}$. Define functions g_2 and \bar{g}_2 on S_1 by

$$\begin{aligned} g_2(t) &= \frac{\int_0^1 \omega((1-\theta)t)d\theta}{1 - \omega_0(t)} + \frac{3}{8} \left[3 \frac{\omega_0(g_1(t)t) + \omega_0(t)}{1 - \omega_0(g_1(t)t)} \right. \\ &\quad \left. + \frac{\omega_0(g_1(t)t) + \omega_0(t)}{1 - \omega_0(t)} \right] \frac{\int_0^1 \omega_1(\theta t)d\theta}{1 - \omega_0(t)} \end{aligned}$$

and

$$\bar{g}_2(t) = g_2(t) - 1.$$

We also get $\bar{g}_2(0) = -1$ and $\bar{g}_2(t) \rightarrow \infty$ as $t \rightarrow \rho_2^-$. Denote by R_2 the smallest solution of equation $\bar{g}_2(t) = 0$ in $(0, \rho_2)$. Suppose that

$$\omega_0(g_2(t)t) = 1 \quad (2.4)$$

has at least one positive solution. Denote by ρ_3 the smallest such solution. Set $S_2 = [0, \rho]$, where $\rho = \min\{\rho_2, \rho_3\}$. Define functions g_3 and \bar{g}_3 by

$$\begin{aligned} g_3(t) &= \left\{ \frac{\int_0^1 \omega((1-\theta)g_2(t)t)d\theta}{1 - \omega_0(g_2(t)t)} \right. \\ &\quad + \frac{(\omega_0(g_2(t)t) + \omega_0(g_1(t)t)) \int_0^1 \omega_1(\theta g_2(t)t)d\theta}{(1 - \omega_0(g_2(t)t))(1 - \omega_0(g_1(t)t))} \\ &\quad \left. \frac{1}{8} \left[\frac{15(\omega_0(g_1(t)t) + \omega_0(t))}{1 - \omega_0(g_1(t)t)} \right. \right. \\ &\quad \left. \left. + \frac{11(\omega_0(g_1(t)t) + \omega_0(t))}{1 - \omega_0(t)} \right] \frac{\int_0^1 \omega_1(\theta g_2(t)t)d\theta}{1 - \omega_0(g_1(t)t)} \right\} \end{aligned}$$

and

$$\bar{g}_3(t) = g_3(t) - 1.$$

We have again $\bar{g}_3(0) = -1$ and $\bar{g}_3(t) \rightarrow \infty$ as $t \rightarrow \rho^-$. Moreover, define a radius of convergence R by

$$R = \min\{R_i\}, \quad i = 1, 2, 3. \quad (2.5)$$

It follows that for each $t \in [0, R)$

$$0 \leq \omega_0(t) < 1, \quad 0 \leq \omega_0(g_1(t)t) < 1, \quad 0 \leq \omega_0(g_2(t)t) < 1, \quad (2.6)$$

and

$$0 \leq g_i(t) < 1, \quad i = 1, 2, 3. \quad (2.7)$$

We base the local convergence analysis of method (1.1) on conditions (A):

- (a1) $F : \Omega \rightarrow \mathcal{E}_2$ is a continuously differentiable operator in the sense of Fréchet and there exists $\alpha \in \Omega$ such that $F(\alpha) = 0$ and $F'(\alpha)^{-1} \in \mathcal{L}(\mathcal{E}_2, \mathcal{E}_1)$.
- (a2) There exists function $\omega_0 : S \rightarrow S$ continuous and increasing with $\omega_0(0) = 0$ and for each $x \in \Omega$

$$\|F'(\alpha)^{-1}(F'(x) - F'(\alpha))\| \leq \omega_0(\|x - \alpha\|).$$

Set $\Omega_0 = \Omega \cap U(\alpha, \rho_0)$, where ρ_0 is given in (2.1).

- (a3) There exist functions $\omega : S_0 \rightarrow S, \omega_1 : S_0 \rightarrow S$ such that for each $x, y \in \Omega_0$

$$\|F'(\alpha)^{-1}(F'(y) - F'(x))\| \leq \omega(\|y - x\|)$$

and

$$\|F'(\alpha)^{-1}F'(x)\| \leq \omega_1(\|x - \alpha\|)$$

where S_0 and S are defined previously.

- (a4) $\bar{U}(\alpha, R) \subset \Omega, \rho_0, \rho_1, \rho_2$ exist and are given by (2.1), (2.3) and (2.4), respectively, (2.2) holds and R is given by (2.5).
- (a5) There exists $R_1 \geq R$ such that

$$\int_0^1 \omega_0(\theta R_1) d\theta < 1.$$

Set $\Omega_1 = \Omega \cap \bar{U}(\alpha, R_1)$.

Next, the local convergence analysis of method (1.1) is provided using the conditions (A) and the preceding notation.

Theorem 2.1. *Suppose that the conditions (A) hold. Then, sequence $\{x_n\}$ generated by (1.1), for $x_0 \in U(\alpha, R) - \{\alpha\}$ is well defined, remains in $U(\alpha, R)$ for each $n = 0, 1, 2, 3, \dots$ and converges to α . Moreover, the following estimates hold*

$$\|y_n - \alpha\| \leq g_1(\|x - \alpha\|) \|x - \alpha\| \leq \|x - \alpha\| < R, \quad (2.8)$$

$$\|z_n - \alpha\| \leq g_2(\|x - \alpha\|) \|x - \alpha\| \leq \|x - \alpha\| \quad (2.9)$$

and

$$\|x_{n+1} - \alpha\| \leq g_3(\|x - \alpha\|) \|x - \alpha\| \leq \|x - \alpha\|, \quad (2.10)$$

where functions g_i are given previously and R is defined in (2.5). Furthermore, the limit point α is the only solution of equation $F(x) = 0$ in the set Ω_1 .

Proof. We use mathematical induction to show (2.8) – (2.10). Let $x \in U(\alpha, R) - \{\alpha\}$. Using (2.5), (a1) and (a2), we get that

$$\|F'(\alpha)^{-1}(F'(x) - F'(\alpha))\| \leq \omega_0(\|x - \alpha\|) \leq \omega_0(R) < 1. \quad (2.11)$$

By the Banach perturbation lemma [6, 7, 10], $F'(x)^{-1} \in \mathcal{L}(\mathcal{E}_2, \mathcal{E}_1)$,

$$\|F'(x)^{-1}F'(\alpha)\| \leq \frac{1}{1 - \omega(\|x - \alpha\|)} \quad (2.12)$$

and the iterate y_0 is well defined by the first substep of method (1.1) for $n = 0$. We can write by (a1) that

$$y_0 - \alpha = x_0 - \alpha - F'(x_0)^{-1}F(x_0) + \frac{1}{3}F'(x_0)^{-1}F(x_0), \quad (2.13)$$

so by (2.5), (2.7) (for $i = 1$), (2.12) (for $x = x_0$) and (2.13), we have in turn that

$$\begin{aligned} \|y_0 - \alpha\| &\leq \|F'(x_0)^{-1}F'(\alpha)\| \\ &\quad \left\| \int_0^1 F'(\alpha)^{-1}(F'(\alpha + \theta(x_0 - \alpha)) - F'(x_0))d\theta(x - \alpha) \right\| \\ &\quad + \frac{1}{3}\|F'(x_0)^{-1}F'(\alpha)\| \\ &\leq \left[\frac{\left[\int_0^1 \omega((1 - \theta)\|x_0 - \alpha\|)d\theta + \frac{1}{3} \int_0^1 \omega_1(\theta\|x_0 - \alpha\|)d\theta \right]}{1 - \omega_0(\|x_0 - \alpha\|)} \right] \\ &\quad \times \|x_0 - \alpha\| \\ &= g_1(\|x_0 - \alpha\|)\|x_0 - \alpha\| \leq \|x_0 - \alpha\| < R, \end{aligned} \quad (2.14)$$

so (2.8) holds for $n = 0$ and $y_0 \in U(\alpha, R)$. Moreover, z_0 exists by (2.12) (for $x = y_0$). We can write

$$\begin{aligned} z_0 - \alpha &= x_0 - \alpha - F'(x_0)^{-1}F(x_0) \\ &\quad - \left[-\frac{3}{2}I + \frac{9}{8}F'(y_0)^{-1}F'(x_0) + \frac{3}{8}F'(x_0)^{-1}F'(y_0) \right]F'(x_0)^{-1}F(x_0) \\ &= x_0 - \alpha - F'(x_0)^{-1}F(x_0) + \frac{3}{8}[3F'(y_0)^{-1}(F'(y_0) - F'(x_0)) \\ &\quad + F'(x_0)^{-1}(F'(x_0) - F'(y_0))]F'(x_0)^{-1}F(x_0), \end{aligned} \quad (2.15)$$

where we used the estimations

$$\begin{aligned} &-\frac{12}{8}I + \frac{9}{8}F'(y_0)^{-1}F'(x_0) + \frac{3}{8}F'(x_0)^{-1}F'(y_0) \\ &= -\frac{9}{8}(I - F'(y_0)^{-1}F'(x_0)) - \frac{3}{8}(I - F'(x_0)^{-1}F'(y_0)) \\ &= -\frac{3}{8}[3F'(y_0)^{-1}(F'(y_0) - F'(x_0)) + F'(x_0)^{-1}(F'(x_0) - F'(y_0))]. \end{aligned}$$

Then, by (2.5), (2.7) (for $i = 2$), (2.12) (for $x = y_0$), and (2.14), we have in turn that

$$\begin{aligned} \|z_0 - \alpha\| &\leq \|x_0 - \alpha - F'(x_0)^{-1}F(x_0)\| + \frac{3}{8}[3\|F'(y_0)^{-1}F'(\alpha)\| \\ &\quad (\|F'(\alpha)^{-1}(F(y_0) - F'(\alpha))\| + \|F'(\alpha)^{-1}(F'(x_0) - F'(\alpha))\|) \\ &\quad + \|F'(x_0)^{-1}F'(\alpha)\|\|F'(\alpha)^{-1}(F'(\alpha)^{-1}(F'(y_0) - F'(\alpha))\| \\ &\quad + \|F'(\alpha)^{-1}(F'(x_0) - F'(\alpha))\|)] \\ &\quad \|F'(x_0)^{-1}F'(\alpha)\|\|F'(\alpha)^{-1}F(x_0)\| \\ &\leq \left\{ \frac{\int_0^1 \omega((1 - \theta)\|x_0 - \alpha\|)d\theta}{1 - \omega_0(\|y_0 - \alpha\|)} \right. \\ &\quad \left. + \frac{3}{8} \left[\frac{3(\omega_0(\|y_0 - \alpha\|) + \omega_0(\|x_0 - \alpha\|))}{1 - \omega_0(\|y_0 - \alpha\|)} \right] \right\} \end{aligned}$$

$$\begin{aligned}
& + \frac{\omega_0(\|x_0 - \alpha\|) + \omega_0(\|y_0 - \alpha\|)}{1 - \omega_0(\|x_0 - \alpha\|)} \Big] \\
& \left. \frac{\int_0^1 \omega_1(\theta \|x_0 - \alpha\|) d\theta}{1 - \omega_0(\|x_0 - \alpha\|)} \right\} \|x_0 - \alpha\| \\
\leq & \ g_2(\|x_0 - \alpha\|) \|x_0 - \alpha\| \leq \|x_0 - \alpha\|,
\end{aligned} \tag{2.16}$$

so (2.9) holds for $n = 0$ and $z_0 \in U(\alpha, R)$. We also have by (2.12) (for $x = z_0$) that $F'(z_0)^{-1}$ exists. Then, we can write by the second substep of method (1.1) that

$$\begin{aligned}
x_1 - \alpha = & \ z_0 - \alpha - F'(z_0)^{-1}F(z_0) \\
& + F'(z_0)^{-1}(F'(y_0) - F'(z_0))F'(y_0)^{-1}F(z_0) \\
& + \frac{1}{8}[15F'(y_0)^{-1}(F'(y_0) - F'(x_0)) + 11F'(x_0)^{-1}(F'(x_0) - F'(y_0))] \\
& F'(y_0)^{-1}F(z_0),
\end{aligned} \tag{2.17}$$

where we used estimations

$$\begin{aligned}
& \frac{1}{8}[-26I + 15F'(y_0)^{-1}F'(x_0) - 11I + 11F'(x_0)^{-1}F'(y_0)] \\
= & -\frac{1}{8}[15(I - F'(y_0)^{-1}F'(x_0)) + 11(I - F'(x_0)^{-1}F'(y_0))] \\
= & -\frac{1}{8}[15F'(y_0)^{-1}(F'(y_0) - F'(x_0)) + 11F'(x_0)^{-1}(F'(x_0) - F'(y_0))].
\end{aligned}$$

Next, by (2.5), (2.7) (for $i = 3$), (2.12) (for $x = x_0, z_0$), (2.16) and (2.17), we obtain in turn that

$$\begin{aligned}
\|x_1 - \alpha\| \leq & \|z_0 - \alpha - F'(z_0)^{-1}F(z_0)\| \\
& + \|[F'(z_0)^{-1}F'(\alpha)](\|F'(\alpha)^{-1}(F'(y_0) - F'(x_0))\| \\
& + \|F'(\alpha)^{-1}(F'(z_0) - F'(\alpha))\|) \\
& \times \|F'(y_0)^{-1}F'(\alpha)\| \|F'(\alpha)^{-1}F(z_0)\| \\
& + \frac{1}{8}[15\|F'(y_0)^{-1}F'(\alpha)\|(\|F'(\alpha)^{-1}(F'(y_0) - F'(\alpha))\| \\
& + \|F'(\alpha)^{-1}(F'(x_0) - F'(\alpha))\|) \\
& + 11\|F'(x_0)^{-1}F'(\alpha)\|(\|F'(\alpha)^{-1}(F'(x_0) - F'(\alpha))\| \\
& + \|F'(\alpha)^{-1}(F'(y_0) - F'(\alpha))\|) \\
& \times \|F'(y_0)^{-1}F'(\alpha)\| \|F'(\alpha)^{-1}F(z_0)\| \\
\leq & \left\{ \frac{\int_0^1 \omega((1 - \theta)\|z_0 - \alpha\|) d\theta}{1 - \omega_0(\|z_0 - \alpha\|)} \right. \\
& + \frac{(\omega_0(\|z_0 - \alpha\|) + \omega_0(\|y_0 - \alpha\|)) \int_0^1 \omega_1(\theta \|z_0 - \alpha\|) d\theta}{(1 - \omega_0(\|z_0 - \alpha\|))(1 - \omega_0(\|y_0 - \alpha\|))} \\
& + \frac{1}{8} \left[\frac{15(\omega_0(\|x_0 - \alpha\|) + \omega_0(\|y_0 - \alpha\|))}{1 - \omega_0(\|y_0 - \alpha\|)} \right. \\
& \left. + \frac{11(\omega_0(\|x_0 - \alpha\|) + \omega_0(\|y_0 - \alpha\|))}{1 - \omega_0(\|x_0 - \alpha\|)} \right] \\
& \times \frac{\int_0^1 \omega_1(\theta \|z_0 - \alpha\|) d\theta}{1 - \omega_0(\|y_0 - \alpha\|)} \Big\} \|z_0 - \alpha\| \\
\leq & \ g_3(\|x_0 - \alpha\|) \|x_0 - \alpha\| \leq \|x_0 - \alpha\|,
\end{aligned} \tag{2.18}$$

so (2.10) holds for $n = 0$ and $x_1 \in U(\alpha, R)$. The induction for (2.8)–(2.10) is completed, if x_0, y_0, z_0, x_1 are replaced by x_j, y_j, z_j, x_{j+1} respectively, in the preceding estimations. It then follows from

$$\|x_{j+1} - \alpha\| \leq a\|x_j - \alpha\| < R, \quad a = g_3(\|x_0 - \alpha\|) \in [0, 1] \quad (2.19)$$

that $\lim_{j \rightarrow \infty} x_j = \alpha$ and $x_{j+1} \in U(\alpha, R)$. Finally, for the uniqueness part, let $\alpha_1 \in \Omega_1$ with $F(p_1) = 0$ with $F(\alpha_1) = 0$. Then, by (a2) and (a5), we get in turn that for $T = \int_0^1 F'(\alpha_1 + \theta(\alpha - \alpha_1))d\theta$ for

$$\begin{aligned} \|F'(\alpha)^{-1}(T - F'(\alpha))\| &\leq \int_0^1 \omega_0(\theta\|\alpha - \alpha_1\|)d\theta \\ &\leq \int_0^1 \omega_0(\theta R^*)d\theta < 1 \end{aligned} \quad (2.20)$$

leading to $T^{-1} \in \mathcal{L}(\mathcal{E}_2, \mathcal{E}_1)$. Then, by the identity

$$0 = F(\alpha) - F(\alpha_1) = T(\alpha - \alpha_1),$$

we deduce that $\alpha_1 = \alpha$. \square

Remark 2.1. The convergence order of method (1.1) can be determined using computing the computational order of convergence (COC) [7, 8, 11] given by

$$\xi = \frac{\ln(\frac{\|x_{n+2} - \alpha\|}{\|x_{n+1} - \alpha\|})}{\ln(\frac{\|x_{n+1} - \alpha\|}{\|x_n - \alpha\|})} \quad (2.21)$$

or the approximate computational order of convergence (ACOC) [7, 8, 11] given by

$$\xi^* = \frac{\ln(\frac{\|x_{n+2} - x_{n+1}\|}{\|x_{n+1} - x_n\|})}{\ln(\frac{\|x_{n+1} - x_n\|}{\|x_n - x_{n-1}\|})}. \quad (2.22)$$

It turns out that the local convergence of method (1.2) (or method (1.3)) are given under the conditions (A) by modifying the definition of g_i functions to fit these methods as follows:

$$\begin{aligned} g_2(t) &= \frac{\int_0^1 \omega((1-\theta)t)d\theta}{1-\omega_0(t)} + \frac{3}{8} \left[\left(\frac{(\omega_0(g_1(t)t) + \omega_0(t))}{1-\omega_0(g_1(t)t)} \right)^2 \right. \\ &\quad \left. + \frac{2(\omega_0(g_1(t)t) + \omega_0(t))}{(1-\omega_0(g_1(t)t))^2} \right] \frac{\int_0^1 \omega_1(\theta t)d\theta}{1-\omega_0(t)}, \\ \bar{g}_2(t) &= g_2(t) - 1, \end{aligned}$$

and g_3 and \bar{g}_3 as previously. The corresponding (2.15) Ostrowski-type representation in method (1.2) is:

$$\begin{aligned} z_n - \alpha &= x_n - \alpha - F'(x_n)^{-1}F(x_n) \\ &\quad + \frac{3}{8}[(F'(y_n)^{-1}(F'(y_n) - F'(x_n)))^2 \\ &\quad + 2F'(y_n)^{-1}(F'(y_n) - F'(x_n))F'(y_n)^{-1}F'(x_n)] \\ &\quad \times F'(x_n)^{-1}F(x_n), \end{aligned} \quad (2.23)$$

where the representations for functions g_1 and g_3 are the same. Moreover, the corresponding to (2.15) and (2.17) representations for method (1.3) are:

$$z_n - \alpha = x_n - \alpha - F'(x_n)^{-1}F(x_n)$$

$$\begin{aligned}
& + \frac{1}{8} [15F'(x_n)^{-1}(F'(x_n) - F'(y_n)) \\
& + 9F'(x_n)^{-1}F'(y_n)F'(x_n)^{-1}(F'(y_n) - F'(x_n))] \\
& \times F'(x_n)^{-1}F(z_n).
\end{aligned} \tag{2.24}$$

and

$$\begin{aligned}
x_{n+1} - \alpha &= z_n - \alpha - F'(z_n)^{-1}F(z_n) \\
& - \frac{3}{2}F'(x_n)^{-1}(F'(x_n) - F'(y_n)) \\
& \times F'(x_n)^{-1}F(z_n).
\end{aligned} \tag{2.25}$$

The g functions are:

$$\begin{aligned}
g_2(t) &= \frac{\int_0^1 \omega((1-\theta)t)d\theta}{1-\omega_0(t)} + \frac{1}{8} \left[\frac{15(\omega_0(g_1(t)t) + \omega_0(t))}{1-\omega_0(t)} \right. \\
& \left. + \frac{9w_1(g_1(t)t)(\omega_0(g_1(t)t) + \omega_0(t)) \int_0^1 \omega_1(\theta t)d\theta}{(1-\omega_0(t))^3} \right]
\end{aligned}$$

and

$$\begin{aligned}
g_3(t) &= \left\{ \frac{\int_0^1 \omega((1-\theta)t)d\theta}{1-\omega_0(t)} \right. \\
& \left. + \frac{3(\omega_0(t) + \omega_0(g_1(t)t)) \int_0^1 \omega_1(\theta g_2(t)t)d\theta}{(1-\omega_0(t))^2} \right\} g_2(t).
\end{aligned}$$

With the above changes and following the proof of Theorem 2.1, we arrive at the corresponding results for method (1.2) and method (1.3).

Theorem 2.2. *Suppose that the conditions (A) hold. Then, the conclusions of Theorem 2.1 hold for method (1.2) or method (1.3) with the above indicated changes.*

3. NUMERICAL EXAMPLES

Example 3.1. Let $\mathcal{B}_1 = \mathcal{B}_2 = \mathbb{R}^3$, $\Omega = \bar{U}(0, 1)$, $x^* = (0, 0, 0)^T$. Define function F on Ω for $u = (x, y, z)^T$ by

$$F(u) = (e^x - 1, \frac{e-1}{2}y^2 + y, z)^T.$$

Then, the Fréchet-derivative is given by

$$F'(v) = \begin{bmatrix} e^x & 0 & 0 \\ 0 & (e-1)y+1 & 0 \\ 0 & 0 & 1 \end{bmatrix}.$$

Notice that using the (2.8)-(2.12), conditions, we get $\omega_0(t) = (e-1)t$, $\omega(t) = e^{\frac{1}{e-1}t}$, $\omega_1(t) = e^{\frac{1}{e-1}t}$.

Then using the definition of r , we have that

$$R_1 = 0.15440695135715407082521721804369$$

$$R_2 = 0.08374478937177408377490195334758 = R$$

$$R_3 = 0.11332932017032089355712543010668.$$

Example 3.2. Let $\mathcal{B}_1 = \mathcal{B}_2 = C[0, 1]$, the space of continuous functions defined on $[0, 1]$ and be equipped with the max norm. Let $\Omega = \bar{U}(0, 1)$. Define function F on Ω by

$$F(\varphi)(x) = \varphi(x) - 5 \int_0^1 x\theta\varphi(\theta)^3 d\theta. \quad (3.1)$$

We have that

$$F'(\varphi(\xi))(x) = \xi(x) - 15 \int_0^1 x\theta\varphi(\theta)^2\xi(\theta) d\theta, \text{ for each } \xi \in \Omega.$$

Then, we get that $x^* = 0$, $\omega_0(t) = 7.5t$, $\omega(t) = 15t$, $\omega_1(t) = 2$. This way, we have that

$$R_1 = 0.0222222222222222222222222222222222222222$$

$$R_2 = 0.015951698098429258065866775950781 = R$$

$$R_3 = 0.021955106317595653175889225394712.$$

Example 3.3. Let $\mathcal{E}_1 = \mathcal{E}_2 = \mathbb{R}$, $\Omega = [-\frac{5}{2}, \frac{1}{2}]$. Define F on Ω by

$$F(x) = x^3 \log x^2 + x^5 - x^4$$

Then

$$F'(x) = 3x^2 \log x^2 + 5x^4 - 4x^3 + 2x^2,$$

Then, we get that $\varphi_0(t) = \varphi(t) = 147t$, $\psi(t) = 2$. So, we obtain

$$R_1 = 0.0015117157974300831443688586545729$$

$$R_2 = 0.00088140170616351218649264787075026 = R$$

$$R_3 = 0.0012234803047134626755032549283442.$$

Example 3.4. Let $\mathcal{B}_1 = \mathcal{B}_2 = C[0, 1]$, $\Omega = \bar{U}(x^*, 1)$ and consider the nonlinear integral equation of the mixed Hammerstein-type [1, 2, 3, 5, 11] defined by

$$x(s) = \int_0^1 G(s, t)(x(t)^{3/2} + \frac{x(t)^2}{2}) dt,$$

where the kernel G is the Green's function defined on the interval $[0, 1] \times [0, 1]$ by

$$G(s, t) = \begin{cases} (1-s)t, & t \leq s \\ s(1-t), & s \leq t. \end{cases}$$

The solution $x^*(s) = 0$ is the same as the solution of equation (1.4), where $F : C[0, 1] \rightarrow C[0, 1]$ is defined by

$$F(x)(s) = x(s) - \int_0^1 G(s, t)(x(t)^{3/2} + \frac{x(t)^2}{2}) dt.$$

Notice that

$$\left\| \int_0^1 G(s, t) dt \right\| \leq \frac{1}{8}.$$

Then, we have that

$$F'(x)y(s) = y(s) - \int_0^1 G(s, t)(\frac{3}{2}x(t)^{1/2} + x(t)) dt,$$

so since $F'(x^*(s)) = I$,

$$\|F'(x^*)^{-1}(F'(x) - F'(y))\| \leq \frac{1}{8}(\frac{3}{2}\|x - y\|^{1/2} + \|x - y\|).$$

Then, we get that $\omega_0(t) = \omega(t) = \frac{1}{8}(\frac{3}{2}t^{1/2} + t)$, $\omega_1(t) = 1 + \omega_0(t)$. So, we obtain $R_1 = 1.2$

$$R_2 = 0.60784148620540678908952259007492 = R$$

$$R_3 = 0.77695598964350998105743428823189.$$

4. CONCLUSION

A very important aspect in the study of iterative methods is the convergence region, since it determines the choices of the initial point. That is why we studied the convergence of three popular sixth order methods for solving nonlinear equations under the same set of conditions. The radii of convergence were evaluated on three test examples showing that in each example a different method has the largest radius of convergence.

REFERENCES

1. Amat, S., Busquier, S., Plaza, S., On two families of high order Newton type methods, *Appl. Math. Comput.*, 25, (2012), 2209-2217.
2. Amat, S., Argyros, I. K., Busquier, S., Hernandez, M. A., On two high-order families of frozen Newton-type methods, *Numer. Lin. Alg. Appl.*, 25 (2018), 1-13.
3. Argyros, I.K., Ezquerro, J. A., Gutierrez, J. M., Hernandez, M. A., Hilout, S., On the semi-local convergence of efficient Chebyshev-Secant-type methods, *J. Comput. Appl. Math.*, 235, (2011), 3195-2206.
4. Argyros, I. K., George, S., Thapa, N., Mathematical Modeling For The Solution Of Equations And Systems Of Equations With Applications, Volume-I, Nova Publishes, NY, 2018.
5. Argyros, I. K., George, S., Thapa, N., Mathematical Modeling For The Solution Of Equations And Systems Of Equations With Applications, Volume-II, Nova Publishes, NY, 2018.
6. Argyros, I.K and Hilout, S., Weaker conditions for the convergence of Newton's method, *J. Complexity*, 28, (2012), 364-387.
7. Argyros, I. K, Magrenán, A. A, A contemporary study of iterative methods, Elsevier (Academic Press), New York, 2018.
8. Argyros, I.K., Magrenán, A.A., Iterative methods and their dynamics with applications, CRC Press, New York, USA, 2017.
9. Cordero,A., Hueso, J. L., Martinez, E., Torregrosa, J. R., A modified Newton-Jarratt's composition, *Numer. Algorithms*, 55, (2010), 87-99.
10. Kantorovich, L.V., Akilov, G.P., Functional analysis in normed spaces, Pergamon Press, New York, 1982.
11. Hernandez, M. A., Martinez, E., Tervel, C., Semi-local convergence of a k -step iterative process and its application for solving a special kind of conservative problems, *Numer. Algor.*, 76, (2017), 309-331.
12. Hueso, J. L., Martinez, E., Tervel, C., Convergence, efficiency and dynamics of new fourth and sixth order families of iterative methods for nonlinear systems, *Comput. Appl. Math.*, 275, (2015), 412-420.
13. Jarratt, P., Some fourth order multipoint iterative methods for solving equations, *Math. Comput.*, 20, (1966), 434-437.
14. Montazeri, H., Soleymani, F., Shateyi, S., Motsa, S. S., On a new method for computing the numerical solution of systems of nonlinear equations, *Appl. Math.*, (2012), ID 751975.
15. Sharma, J.R., Guha , R. K., Sharma, R., An efficient fourth order weighted Newton method for systems of nonlinear equations, *Numer. Algorithm*, 62 (2013), 307-323.